Rawdon 3rds 3rds v Adel P Harrison

| Adel P Harrison Won By 31 runs

3rds Sunday, May 4 2014
Adel P Harrison Adel P Harrison won toss and decided to bat
Batsman Balls Batting Analysis g: 15:)% How Out Bowler Runs
0002..4‘l.Ol......O.J‘......."\') 2
1.Paul Swales 28 0 bowled George Powell 10
.++ooo+.oo.o1ﬂo©o.oo> 0
2.Danny Ridgeway 18 0 run out (Elliot Goldthorp) 1
Teesey>
3.Ryan O'sullivan 6 g bowled George Powell 1
.'1oooooo4++ozo-€;:'ioo oooooo FECEEEREY FEEEES EEREE 'S B =50 G E 3
4.Faizan Siraj 62 0 c George Powell Harrison Bromage 25
sessssssleselese]s olois conssnlee] 0
5.Sam O'sullivan 36 0 Ibw Elliot Goldthorp 11
oooooo IR T o 1
6.Elliot Audsley 32 0 bowled Neil Waite 8
7.Paul Harrison 5 g ¢ Ross Jennings Elliot Goldthorp 0
n'_'no B ‘oo:'- B e DL 2
8.George Harrison 34 3 not out 19
s>
9.Tom Harrison 3 g c Dan Appleton Neil Waite 0
slelofesssnssssfedde 3
10.Simon Parkinson 20 3 not out 20
11.Greg O'sullivan
Fall 1-16 2-17 3-22 4-62 5-64] 6-64 7-84 8-84] Extras:(10b Olb 5w 4nb Opr) 19
Part 16 1 5 40 2 0 20 0 8 wkts (40.0 overs) 114
Bowling Analysis
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2.Ross Jennings + R 1 R M + . (j 6.0 1 19
2 .= 2| 4 1 |= . 2
3.Ben Griggs 2 ; i i , 1 1 6.0, 0| 23
. . |e 2| 2| .| .| 1|+ o |e
4.Elliot Goldthorp ‘ML 1ML WL 80| 4| 8
. w 1 .
5.Harrison Bromage  |.\\WL|. ’. 50| 1| 11
. . . 1] « |6 4
6.Neil Waite ', AWLE ML 60| 2 | 20




Rawdon 3rds 3rds v Adel P Harrison

| Adel P Harrison Won By 31 runs
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Rawdon 3rds 3rds

Adel P Harrison won toss and decided to bat

Batsman Balls Batting Analysis g: 1%% How Out Bowler Runs
..0..0w>
1.Shaun Butler 7 g bowled Ryan O'sullivan 0
1oooOooooooo']0..40..04.0\\:) 2
2.Joe Lupton 25 0 bowled Ryan O'sullivan 10
.....0..01.&....'.\')
3.Matty Campleman 17 g bowled Simon Parkinson 1
sssssssssssssss eseee) (eeeede (12 0nnnee 11110 edelee ooy 2
4.Neil Waite 59 0 Ibw Simon Parkinson 29
sesssssnoy>
5.Josh Barker 11 :J Ibw Ryan O'sullivan 4
Tow>
6.Dan Appleton 3 g lbw Simon Parkinson 1
TessTenissn fosovessony> 2
7.Elliot Goldthorp 24 0 Ibw Danny Ridgeway 13
cecmendeccnns sosfeselecconnd ool eemes Iy 4
8.Ross Jennings 43 0 ¢ Sam O'sullivan Ryan O'sullivan 19
w>
9.George Powell 1 g ¢ Paul Harrison Simon Parkinson 0
Sesseee .0..\ -3
10.Harrison Bromage 11 g ¢ Sam O'sullivan Simon Parkinson 0
B 0
11.Ben Griggs 1 0 not out 2
Fall 1-1 2-9 3-13 4-17 5-18 6-39 7-79 8-79 9-81 10-83| Extras:(1b 1Ib Ow 2nb Opr) 4
Part 1 8 4 4 1 21 40 0 2 2| 10 wkts (33.1 overs) 83
Bowling Analysis
Bowler 1] 2] 3 5] 6] 7] 8] O] 10] 11| 12 13| 14| 5] 16 7] 18] 9] 20]| °| M| R
- - - - - - - - - - . - - w 1 -
1.8imon Parkinson |- Mil. | : ‘MiMIT WL 9.0 7
1 . w|e 4 - - - 1
2.Ryan O'sullivan " - O ) M T ' 7.1 16
.| . 2 1 1
3.Danny Ridgeway ) TWLL 1 1 . 8.0 31
4.Sam O'sullivan : 1 3.0 15
1 ' =1 - .
5.George Harrison M 2 1 6.0 12




